> s 2 L oy 22 2 P _ ~ + >
WA FRE VEBEIITIDEERF- ~ - FHKEGER
& * -
- = = 3 I =
ng 10110
11 : 00 .
()
10:10
D4
12:00
o5 1740
2:30 ® 2 (%)
xE e (&
og 240
3:30
p7 3% k223 (E)(L)
30 | e M= ()
pg *1 % XAso;F
5:30
6 : 40 CEE()()
E1 R EH-A (v . R
a0 | aprae) R saee) 5 48 () HEY
PR Y b ;;,,— B AALE TEL %7
. >3 B (%
e 7°3° AA413B ES 708 ES 708 AR (E)(T)
8:20 AA 309 ’fﬁ“é H X EE
ES 708
8:30 el R (s
. X" E+Hw-B ("/") w oh
GRS Ban(=) (5 %25 ST R e F(e) & 20(H ) ()
LRE KT A R REE X '
9:25 vk S EST08 ES 708
E4 AA412B ES 601
AA 309

10 - 10




WiExBRE BRI 1068 &A% - -

N/ _
&% =

- = = . I A
D5 1:40
2:30 X E2 ()
g 2740 FEE R EES
3:30
D7 3:40
4:30 La s ()
4 : 40 ES 606
b8 5:30
6 : 40 ERE ”*i(ﬁX‘) ?%##&%B(T)
' . e . [#R. #](:) P& &L S s e A b At a1 (o
ﬂ‘/w : %FFF AA309 ﬁv%ﬁ#i’x’msﬁ)ﬁ) 1RG5 *i AA3L3 é?[i;]i)t R4 ﬁ%l[ﬁ@], ()
THORFEwe | % EFAMIZB L N ;L:)L(,,,)(T LR W) | ma ke AA4L4B Frin EfF
. x 7 s g
L, 7085 [8EI(2) g gamp(e) | gicpemaagie | D0 TR =5 309
. oAt X g7 AL114
g:o0 | IFEE F [£1] (%) EHE () [21](%)
#1% & - F ES501 ) /& R 7 AA3L2
SRt () [RE] ()
cq 8730 %8 5 %fF ES601
: AL EIT B
VA g A ) AwweAangsQ) | RERARER ) B 1()
[£3](2) [£1] () $pmpr FrREhRale) Féi:@ b
9:05 | fPiEAEET ES302 F 43 %7 ESS0L ES708 A d i ES302 o
E4 AA414B
10 : 10 SR (F)[£1](2)

3§ A&~ EEF ES 601

® [£1]cheBFARZMGETEERZ »

[Aide] e BVARE &1 2euEB -




N/ —_
&+ =

L E G ST B ER S - - BH i (IR

- = = .3 I
og 1740
2:30
o 2740
3:30
o, 3740 AF1EEE) ()
4:30 ETTYEY
oy 440 ik
5:30 AA 415/AA413B
FEPm A4 ACL)
[£1](2)
o, 6740 3R4EET AA4LLB
U shanave Wigggg B(T) | PFAREEBOT)
(E)(1) [£21](2) | E2l() W ACE) | e s
Wik £ fF AM312 | F 403 EfF AA4LB | L LEEFT AA4LAB [21](2) = f:"ij;/?;ﬂ ol
o , iﬁi X pF F[m ](:\_.)
e S ¢ oEm F o) N A ain BRAL & EST07
, (E)(T) [ #] () REI)
£ol (13| kg AM312 | ®EEa kg ESTO7 | MINT B AASL
820 B (T)
[ @] ()
2@ § % f7 EST07
gg 0% av b
> 1337
9:20 | g wE) AERP(2) s R ¥ ["ﬁli%/)*?*
: s o 1S 717 [&2](%) atidadd B &
gal 27020 T M4 Rk AA3IL2 EST708 s
10 : 10 AA308

® [£1p]heBFARIMDEFER > [RBL] AL BFRS &1 BeF3 o




7
2
~

. KEBEIITI05 8 E R B - -

BE e

Iy

- = = .4 T -

1:40

D5 2130 ;{;L%#-’? 33,3
. (F)HGEE)

D6 240 B AKX fE

3:30
D7 3:40

4 :30
Da 4:40

5:30

2 EgirA
6 : 40 - ‘
» s [%ﬁ’ﬁm@‘@-] % 2 2L 5 A S
El 730 B EHFA ﬁt? o EFF(#;LTEE 29)) K mps (2 )GE)
o e (o nre . & B3 g7 BST06
[% 8 2an i ] (%) et 3 (T (E) AA313

L R & (T i) & W37 g BST06 244 v B B FiEn(T)
g2 | 5 AL 114 2w s m] () | 3R F %7 EST08

8:20 MR EEF(41 )

AA4LAA
8:30
2 XHiTB :
=920 #HEB LR P
[ &1 ] () & P

e 9:25 HApE (R ) ES708

10 - 10

AA312




